
WASHER LW 5/16"
SPECTRUM PART #20001

NUT HCN 5/16"-18
SPECTRUM PART #20007

SCREW HC 5/16"-18x3 1/2"
SPECTRUM PART #20084

WASHER FW 5/16"
SPECTRUM PART #20002

END CAP- SQUARE
SPECTRUM PART #16642

GC - BALLAST TANK
SPECTRUM PART #16640

 
900.11mm

35.44in  

 
725.49mm

28.56in  

 
41

9.
10

m
m

16
.5

0i
n

 

ENGINEERING DATA

MATERIAL:

NOTE:

1 DIMENSIONS VARY WITH SPECIFIC APPLICATIONS. SPECIFICATIONS ARE NOMINAL AND 
ARE SUBJECT TO CHANGE. PLEASE CONTACT SPECTRUM AQUATICS FOR CUSTOM APPLICATIONS

7100 Spectrum Lane 
Missoula, Montana 59808

800.791.8056
www.spectrumproducts.com

REVISION:

PRODUCT: GC - BALLAST - MARSHALL - 
MODEL #: 20148-00

STAINLESS STEEL - PLASTIC

A  Wednesday, February 26, 2025 2:42:40 PM
FINISH #: N/A

A


	Sheet 1l
	Drawing View11
	Drawing View17


